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Questions

To total length of the boundary of a closed region is called its

If the perimeter of the rectnge is 34 cm and we increase its length by 2 cm then there will be
a difference of ...... cmin its parimeter.

If the length of a rectangle is 4 cm and width is 3.4 cm, then its peimeter will be equal to.

Diceisa ......... which is a 3- dimensional solid shape.

A is a 2-dimensioal shape which can be folded in a specific pattern to get a 3-
dimensioal solid.

Acube has .......... vertikes
A revolution has ......... rotations of 90°
A cubold has............... edges.

A quadrilisteral having two pairs of parallel side sare equal is called.

A triange havien all sides of different measures is called.
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. Perimeter
. Area

. Side

. Length

oo =N

.11.4 cm
.7.4cm
.14.8 cm
.10.8 cm

. Cube

. Pyramid

. Cubold

. Rectangle

. Net

. rhombus

. Triangle

. parrllelogram

.7
.8
9
.10

. Two

. Three
. Four
. Five

.8

.12
.16
.20

. Parallelogram
. Kite

. Rhambus
. Ispezium

. Scalene traingle
. Equilateral traingle

. Isoceles traingle
. Acute angled triangle



